1.

ohe 2lA y = 242 of e TefEE?

@ YA Y=
©

—>
®

© y=—1"







Ay = 2(x +3)? 9 2L of

5 A

his

dgolt. b= H7] ¥

£




x2 o] DRI} x Ho] Hhato] thH ol

@ y=-3x

1
2

® y=x?

® y=-2x2

L_

\_



a<0,p>0¢ o, o]xpgt

5.




e

fu|m

y=2x>+4x-1Ea(x—p)?+q B2 1A= HY F A
Zrotzt,

"
fijo

y=2x+4x-1
=2(x24+2x) =1 e @
=2(x2 42X+ 1 —1) =1 cevvvvennnn. ©
=2(x+1)2-3-1  ooeiiiinin ©
=2x+1)2-4 e ®

5 EER
c



I



o|ZFeH4 y = _% (x+1)% - 294 JEfof A x 9] Fho] S71e o, y

o R F7ehe xgke] WIS Tetelet

YEE
-






10. y = —2x" —4x + 10 & T2 oA x of go] S7td of, y of &
Aacte x o] gho] M9=?

D x>1 @ x<1 ® x>0
@ x> -1 B x<-1

rlo



11.

79| FH/I} (2, 1) 0|1, y Z3ko] wAH 9] FHHEI} (0, 9) o oA}
y

o] Al =ax? + bx+ ¢ 9 E2 YERJH?

oo

Ea e
nn =

D y=x2-6x+9 @ y=2x2—8x+9

® y=3x2-10x+9 @ y=-222+49

® y=-3x2+11x-9



12. ox&y = ax? 4+ bx+c 9 17T oS
R e, a—b+ ¢ 9 ZHe?




13. the I3 o] el ZBHY 427

yl

[

@ y=3x2-3x-6
@ y=--x?-2

® y=-x>+5x-4

W
8

@ y=-x>+6x-38

@ y=x>-2x-3



14. thg I ol&S y = ax? +bx-+c O] T Eole}, o] o] 24l
25k Foha?

yl\

Y

o™~




o_E

O y = 2% + 4x —m 9] FH 5

B 2

@ 0

® -8

D -10






ojxFetr y = x* —ax+ b ©] HA

Fatelet.

Yk
=

7@0

2
1x%‘?—%>4°ﬂ9,1%ﬂ1,%94%k—%



18. T} H7|9] o]x}sh: dE| X &y = gx2 O] |7} 3 WA R Zo)
e o, jal o He=?

[1]

H7]
_ 35, _1, 1

Qy= 5% @y—Qx 1

© y=2x%—x @ -3(x+2)?
x(x-)(E+1)

@y= x+1

®1<|a|<% @1<Ia|<g ®1<|a|<g

@1<|a|<§ @1<|a|<§

2 2 2 2



19.

=ax® & 1=} A y = x+b
, 8) ¥ B oA vhd ufl, AABO

afolat,




20. oA y=axl+bx+ceEx=3< 0, F=Z 45 7MAH A
(1, 2) E Adeh o] W, a—b—-c 9 gL27

@D 1 @ 2 3 3 @ 4 ® 5



